TEST #3   OUTLINE CH.6,7,8
I.  15  Multiple Choice Quest.:

1. A monopoly exists when: there is only one producer of a good or service and many buyers.

2. In which Canadian industry is the concentration the greatest: tobacco 
3. For which of the following occupations is the average income likely to be the lowest: File clerk
4. In Canada, what or who generally determines minimum wage rates: Federal and provincial governments

5. What is one reason why Atlantic Canada has a lower income per person than other regions of Canada: A lower participation rate.

6. Which of the following occupations likely has the highest average income: Medical doctor
II. Discuss “3” major factors which determine elasticity.

III. Use graphs and explanations to differentiate between “inelastic”, “unitary”, and “elastic” Demand.

IV. Define “market clearing” price”.

V. Graph a shortage and a surplus.
VI. Why do governments increase taxes on cigarettes and liquor when raising revenue?

VII. P. 133-134  # 1,2,3.

VIII. Worksheet  # 1,7,8.

